

Plantão de dúvidas

sexta-feira, 21 de abril de 2023 17:03

(d) $\lim_{x \rightarrow 1} \frac{2x^2 - 3x + 1}{(x-1)} = \frac{0}{0}$ (FATORAÇÃO) $\lim_{x \rightarrow 1} \frac{2(x-1)(x-1/2)}{(x-1)} = \lim_{x \rightarrow 1} 2(x-1/2)$
 $= \lim_{x \rightarrow 1} 2x - 1 = 2(1) - 1 = 1$

$ax^2 + bx + c = a(x-x_1)(x-x_2)$
 raízes \rightarrow Baskara

$2x^2 - 3x + 1 = 0$
 $\Delta = (-3)^2 - 4(2)(1) = 9 - 8 = 1$
 $x = \frac{-(-3) \pm \sqrt{1}}{2(2)} = \begin{cases} x_1 = \frac{3+1}{4} = 1 \\ x_2 = \frac{3-1}{4} = \frac{1}{2} \end{cases}$

$ax^2 + bx + c = a(x-x_1)(x-x_2)$
 $2x^2 - 3x + 1 = 2(x-1)(x-\frac{1}{2})$

(i) $\lim_{x \rightarrow 1} \frac{x^4 - 1}{3x^2 - 4x + 1} = \frac{1^4 - 1}{3(1)^2 - 4(1) + 1} = \frac{1 - 1}{3 - 4 + 1} = \frac{0}{0}$

$x^4 - 1 = (x^2)^2 - (1)^2 = (x^2 + 1)(x^2 - 1)$
 $a^2 - b^2 = (a+b)(a-b)$
 $x^2 - 1 = (x+1)(x-1)$

$3x^2 - 4x + 1 = a(x-x_1)(x-x_2) = 3(x-1)(x-\frac{1}{3})$
 $\Delta = (-4)^2 - 4(3)(1) = 16 - 12 = 4$
 $x = \frac{-(-4) \pm \sqrt{4}}{2(3)} = \begin{cases} x_1 = \frac{4+2}{6} = 1 \\ x_2 = \frac{4-2}{6} = \frac{1}{3} \end{cases}$

OBS: precisei de duas fatorações no numerador!

$\lim_{x \rightarrow 1} \frac{(x^2+1)(x+1)(x-1)}{3(x-1)(x-1/3)} = \lim_{x \rightarrow 1} \frac{(x^2+1)(x+1)}{3(x-1/3)} = \frac{(1^2+1)(1+1)}{3(1-1/3)} = \frac{2 \cdot 2}{3 \cdot (2/3)} = \frac{4}{2} = 2$

$\frac{1 - 1/3}{1} = \frac{3-1}{3} = \frac{2}{3}$

$\frac{1}{1} - \frac{1}{3} = \frac{3-1}{3} = \frac{2}{3}$

$\frac{13}{11} \div 3$

EXEMPLO:
 $\frac{1}{3} + \frac{2}{4} - \frac{3}{2} =$

$\begin{array}{r|l} 3 & 4 & 2 \\ \hline 3 & 2 & 1 \\ \hline 2 & - & 1 & 1 & 2 & 1 \end{array}$

$$\frac{1}{3} + \frac{2}{4} - \frac{3}{2} = \frac{4+6-18}{12} = -\frac{8}{12} = -\frac{2}{3}$$

| | | | |
|---|---|---|---|
| 3 | 4 | 2 | |
| 3 | 2 | 1 | 2 |
| 3 | 1 | 1 | 2 |
| 1 | 1 | 1 | 3 |

} x
12

$$= -\frac{4^{1/2}}{6^{1/2}} = \left[\frac{-2}{3} \right]$$

$$(q) \lim_{x \rightarrow a} \frac{\sqrt{x} - \sqrt{a}}{\sqrt{x^2 - a^2}} = \frac{0}{0}$$

$\frac{a-b}{a+b}$ (numerator)
 $(a+b)$ (denominator)

$$= \lim_{x \rightarrow a} \frac{\sqrt{x} - \sqrt{a} \cdot (\sqrt{x} + \sqrt{a})}{\sqrt{x^2 - a^2} \cdot (\sqrt{x} + \sqrt{a})} = \lim_{x \rightarrow a} \frac{(x^2 - a^2)}{\sqrt{x^2 - a^2} \cdot (\sqrt{x} + \sqrt{a})}$$

$a^2 - b^2 = (a+b)(a-b)$
 $\sqrt{ab} = \sqrt{a} \cdot \sqrt{b}$

$$\frac{a^n}{a^m} = a^{n-m}$$

$$a^n \cdot a^m = a^{n+m}$$

$$= \lim_{x \rightarrow a} \frac{x-a}{\sqrt{x-a} \cdot (\sqrt{x} + \sqrt{a})} = \lim_{x \rightarrow a} \frac{\sqrt{x-a}}{\sqrt{x+a} \cdot (\sqrt{x} + \sqrt{a})}$$

$\sqrt{a} = a^{1/2}$
 $a^n = a^{n \cdot 1} = a^{n \cdot \frac{1}{2} \cdot 2} = (a^{1/2})^2$

$$= \frac{\sqrt{a-a}}{\sqrt{a+a} \cdot (\sqrt{a} + \sqrt{a})} = \frac{\sqrt{0}}{\sqrt{2a} \cdot (2\sqrt{a})} = \frac{0}{4a} = 0$$

q.e.d. $2 \neq 0$

$\log_a(x)$ $\log_e(x) = \ln(x)$

$e \approx 2.71828\dots$

$0 < a \neq 1$ $\lim_{n \rightarrow \infty} \left(1 + \frac{1}{n}\right)^n = e$